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e (i) W mer st § o ede e 1 siwmET
Note : All Questions are compulsory and each question is of 1 mark.
(i) s et & s gin @ Rafy F siaon s 8 e &
Only English version is valid in case of difference in both the languages.

v Wiy wiRe waw e d @ ﬂm 1. On which one of the following cycles
'4Wﬂtﬂﬂ#ﬁ&§? does a modern steam Power Plant
(@) wH e ‘ - works ?
ROB LA (8) Carnot Cycle
NOBE. A 2 : (b) RankineCycle ,
() FotadontT v | () Otto Cycle
: (d) Bell Coléman Cycle
2. R  vigw (e 5 . A
‘ :::;t - 2. The function of moderator in a
T i R ' Nuclear reactor is
@) g ‘i&mﬁ = (a) Ta absorb the excess neutrons.
®) S & o e ~ (b) To increase the energy of the
(c) gt = nfir wh e e ening 8y
(d) - TR I ot (@ Toslow down the neutrons.
3. S ity il i e 4 (@) Nate of the above
: Wﬁmmt? 3.  Diesel Power Stations are used as
(a) weftEn R | | (2) Primary Staion
() s g (b) Standby Unit
©(c) T R (c) Mobile Station
(d) S wedt | (d) Allof the above

P .T.Q'



EE207

@ g SO W o s 9@
(a) WA (b) pHWH
(c) WRU (d) e ast

= 5k TR AT I e gt |
FRS 5T e &

@ WEIE () e
() Ig (d) S ot
IE I B TE A | oo & g
frer d @ Prg O SUHT B FW A
fort s & 2

(2) TORFH

(b) WRFW

(¢) Werfes.

(@ A

Sere et aReafre e &

(2) TR S o g st &
(b) v faftevolt R St &
(c) Wi fafepwor #t andg S F
(@) e Sttt g oot &

ot ot S

(a) uREeR oW %9 adr AR
A T oA T |

(b) UREER WP g A9 NEE
AR ET A Y |

() TREEH I A AR o
i TS B E |

(d) uieem e A AR AR
Lok R ani R

2044
Factors affecting generation of biogas
are
(a) Temperature
(b) pH value

(c¢) Loading rate
(d) All of the above

In closed cycle ocean thérmal energy
conversion method working fluid is
(a) Sea water

(b) Ammonia

(c) Air

| (d) All of the above -

For water distillation which .solar
equipment is used ?

(a) Solar cooker

(b) Solar dryer

(¢) Solar still

(d) None of the above

The solar cell converts

. (a) Chemical energy into elecmcal

energy.
(b) Solar radiations into electncal
energy.
(¢) Solar radxatlons into thermal
energy.

(d) Thermal energy into elecmcal
energy.

In H'ydro Power Plants

(@) Operating cost is low and
initial cost is high.

(b) Operating cost is high and
initial cost is low.

(c) Both operating and initial cost
are high.

(d) Both operating cost and initial
cost are low.
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(a) 9G¥ A W
(b) ¥R % WY Te
Y % 9" §)
T & W S0

T et @t 2
(8 30-40% (b) 45-55%
() 20-25% (d) 60-70%

v frgue wiiear o QW & e
SRR 1 SERT feFr wwn ¥ 2
(@ U234 ()] U235
(© U233 (@ Uy
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(a) weREE
(c) fafeim

(b) sHtER
(@ FEw

3

10.

11,

12,

13.

14,

2044

The conventional sources of energy
are
(a) Solar, Wind, Biomass

(b) Wood, Animal waste,
Agricultural waste

(c) Fossile Fuels, Water, Radio-
active substance

(d) None of the above

A penstock is used as a conduit

between

(a) Boiler and wrbine in Thermal
Power Plant. '

(b) The dam and turbine in Hydro
Power Plant.

(c) The heat exchanger and turbine
in Nuclear Power Plant.

(d) None of the above

Hydro graph is a graph between
(a) Discharge with time

(b) Discharge with load

(¢) Load with time

(d) Energy with time

What is the approximate efficiency of

a normal Thermal Power Plant ?
(@) 30-40% (b) 45-55%
) 20-25% (d 60-70%

In the nuclear fission reactions,

isotope of uranium used is
(a) U234 ®) U235
{e) Uy, @ Uy

Solar cells are made of which
material ?

(@) Alyminium (b)) Germanium

(c) Silicon (d Cadmium

- P.T.O0.
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Which equipment is wused for
pulvening the coal ?

(a) Hopper

(b) Stoker

Ball mill

(d) Burner

The main by-product of the biogas
plant is

(a) Biomass

(b) Biogas

(c) Organic manure

(d) None of the above

Solar thermal Power generation .can
be done by using '

(a) Flat Plate Collector

(b) Concentrating Collector
(¢) Solar Pond

(d) Any of the above

Wind Power is proportional to
(a) Air density

(b) Cube of the wind velocity
(c) Square of the rotor dia
(d) All of the above

A Condenser in a Thermal Power
Plant Condenses steam coming out
from

(@) Turbine

(b) Boiler

(c) Economizer

(d) Superhester

In a nuclear reactor chain reaction is
controlled by

(a) Tronrod

(b) Cadmium rod

(c) Graphite rod

(d) Brassrod"



EE207

To21.

22,

23.

25.

I i doe o W TR fe
e &

(a) & WS ENT

(b) i =g BRT

) T |

(d) ST ERT

o ard iR 9w F oy i e
w1 ST e s ¥

(@ wEtwd

) fawdtn

() Preiaomr 9 o1 qaas ¥

(@) TEEH

-, apgy g o g o ¥

(@ ¥

() R T e TS
() A EA

(@ Nt

ot 3 @ i TR & forg 3
Sio &
(a) =
() TAHR

(b) e w0
(d) e el

aﬂﬁﬂﬁﬂwiiargma%m

@ & g e & ¥ B9 W SER
it figar smen & 2

(a) 3T A

(b) &g T A

(©) e iy swdes

@ I W

®

21.

22.

23.

25.

204
High output diesel engines are started
by B

(a) Self starter

(b) Compressed air

(c) Battery

(d) Cranking

In a thermal power plant heat from

. the flue gases is recovered in

(a) Condenser

(b) Chimney

(c) Economiser and Air pre-heater
(d) Turbine

Bio-gas consists of

(2) Only Methane

(b) Methane and Carbon dioxide
(¢) Only Ethane

(d) Organic gas

In coal preparation plants the.

- magnetic separation are used for

removing

(@) dust

(b) iron particles
(c) clinkers

(@ Al of the above

Which of the following equipment ig
installed in Thermal Power Plant to
reduce air pollution ?

(a) Superheater

(b) Air pre-heater

(c) Electrostatic precipitator- |
(d) FDPFan ,
‘ P.T.0.
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The Hydro Power Plants are well
suited for
(a) Peak load
(b) Baseload
() Both Peak and Base load
(d) None of the above

The generation of electric power from

ocean thermal energy conversion is

based on the utilization of the

(a) Natural temperatyre difference
between the warm sea water
and cold sea water

(b) Solar radiations

() Wind velocity

-(d) None of the above

To avoid water hammer is
used.

(a) Spill way

(b) Dam

(c) Surge tank

(@) Valve

o

Which of the foilowing plants has the
maximum capital cost ?

(a) Thermal Power Plant
(b) Hydro Power Plant
(¢) Diesel Power Plant
(d) Nuclear Power Plant

Which of the following power plants
need  highly - skilled/qualified
engineers for its operations ?

(a) Hydro Power Plant

(b) Thermal Power Plant

(¢) Nuclear Power Plant

(d) Diesel Power Plant
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qe . (i) wemweR afmrt & o @ et e 3 37 R |
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(i) e & e a5 e o e g #
Solve all parts of a question consecutively together.
(iii) Tw T B T SR IS AT
Start each question on a fresh page.
(iv) 9 smrsit & e 67 @) Ry & st orgar & M & 1

Only English version is valid in case of difference in both the languages.

1. () Sheres qor e o F qoen ST |
Compare fossil and nuclear fuel. ‘
(i) Fereve wefy ¥ oy o o €2
What do you mean by draft system ?
(iii) i sfwen sfifisa AR |
Explain nuclear chain reaction.
(iv) WR Vi H e |
Explain Solar Still.
(v) s % ot feflag |
Write properties of biogas. ~ (2x5)

3. () e R T 3 e w5 ge P e W Pl s ¥ | TwTEd |
On what factors does the site-selection of thermal power plant depends ?
Explain.
(i) RIS T A P S R |
Describe superheater and reheater. ‘ (6x2)
N ) P.T.O.
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. () o wifye ot e Pt aegt w iR St
Classify hydro-electric power plant on following facts :
(a) e v fraee |
Water flow regulation
(b) wR
Load
© &
Head
(i) ot vl dut & o o wifvt wmeeE |
Explain the advantages and disadvantages of hydro-electric power plant. . (2x3,6)

() o] S e F e Qo U s weee |
Explain safety measures required in nuclear power plant. _
(ii) mﬁw“'mmwﬁﬁawﬁmﬁmw |
- Draw the diagram of nuclear reactor and describe its different compotents ‘in
brief. (62)

() O ¥Rt andte are @ w ot o Wk |
Describe solar central receiver Thermal Power Plant with diagratn,
(i) SR Qer F aif arell, st qon st wh w avi S |
Explain transparent, insulating and absorbing materials related to Solar-cell. (6X2)

() fafe oaw afmmt @ saret e
Describe different wind mills.
(i) e ¥ e o e fefa
~ Write advantages and disadvantages of wind enetyy. * 6>Q2)

() ARG ¥ I R S A SR I |
Explain the factors affecting production of Bio-gas.
() e Tpa artivle wiE w5t e iR |
- Describe fixed dome Bio-gas plant. 6x2)

. Pt et o e e feafordt fofnd

- Write short notes on any two of the following :

() e e @iz & o o wit
Advantages and disadvantages of diesel power plant.

(i) R It
Ocean energy

(iii) ETEME ¥ WHER

Types of turbine 62)



